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Question 1

27.483554 and 30.034653 are rounded off to six significant figures, then they becomes
27.483554 {32 30.034653 S ATMOR BF YT WFRIHT AT AANFIN 97?2

Question 2

If Un=2n+1,then A"2 Un=
M Un=2n+1, T OIX(A Ar2 Un T2

Question 3

Error in Trapezoidal rule for integration is

STNIRBCEAR (FLE FIFGRNGE S[Lad NS 972

Question 4

The number of positive roots of x"4-5x"3-12x"2+76x-79=0 using Descartes' rule of sign is

(GAFITSA 5% MG TP x14-5x13-12x42+76x-79=0 FRNFACNI SEF 4GP ATGE AU F572

Question 5

Condition for parallelism of two non-zero vectors a and b is

7fo ST (S ET TS 21K *1S F?

Question 6

Resultant of two simple hermonic motion with equal periodic time will have -

SN AATFARERE o S STNES NS Al F92

Question 7

Example of a convex set in two dimension is

Afas ot IF6 T8 Tod GHIRA 572

Question 8

If r(Ab)> r(A), then the set of equations Ax=b have
MR r(Ab)> r(A) T, BIZC Ax=b STRIFACYII STV YT F'S?

Question 9

The number of basic variables in a balanced transportation problem with m rows and n columns is at most

JF6 m T 8 n B [T STIT ARI=ZN TR G 5T S AU F972

Question 10

If any of the constraints in the primal problem be a perfect equality, then the corresponding dual variable of the dual problem is

M YT TG (PN *1S STNFIT B AMF OTR(E (GO S Wy 56 b 32



Question 11

The statement - "intersection of two convex set is a convex set"

7f6 T8 (6 (TW JHI6 B (376- 67 STy o1 T -

Question 12

If f(x)=0 or very small, then which method is not applicable ?

M £(x)=0 T Y3 T T O(F WAATICY @S5 2

Question 13

If x=r cos(u), y=r sin(u), then xdy/dt-ydx/dt="?
T x=r cos(u), y=r sin(u), OTCT xdy/dt-ydx/dt="?

Question 14

A planet moves in its ellipse so that the line between it and the Sun placed at a focus sweeps out equal areas in equal times. - What is this known as ?

(T (P 8= G378 I FLTOIL ST AN GAICS THAINT (] WOF N FR- 27 F M ~f7fow?

Question 15

The lterative formula for Newton-Raphson method is given by

fRGEN-AS GO (NN STAlG F7?

Question 16

The linear function of the variables which is to be maximize or minimize is
called
I3 51T (A4S WFF F 5IN I WIN W N FI0@ 2 OIS F 32

Question 17

If the value of the objective function can be increased or decreased
indefinitely, such solution is called
M RYMYS CNHRA W HNME O A I A O WS F 2

Question 18

The feasible solution of an L.P.P. belongs to
I (TSN TR FIAFI TN (FI ATCH ACF ?

Question 19

The area of the feasible region for constraints x>0, y>1, y<2 is
x>0, y>1, y<2 G2 SN FITFT WAL(ATH (FA6 (FHN?

Question 20

InL.P.P
[ UGl | | RV g ) s

Question 21

A solution which maximize the objective function is called as



RIS P-4 (T ST GAN N (M O & &2

Question 22

The highest order of polynomial integrand for which Simpson’s 1/3 rule of integration is exact is
SRR SR 1/3 RN GFLa STRTS6 MITod IZ9 STNIPAS A AIFANE [Nge N (77 767 362

Question 23

How much significant digits are there in this number 204.0200507?
204.020050 STOTS FAG SNLF WE WTR?

Question 24

Forward difference of a constant function is
(N &IB WAHH- A7 WATSd 5?2

Question 25

Zero sum game has to be a game.

[ (197 RS PhoT 21 JF(6 [F Fhor?

Question 26

Minimize Z =
OV Z =

Question 27

In graphical method the restriction on number of constraints is
@Lf5d &OTS (AR (AN TR TN CHF LN AN 972

Question 28

Which method is used to come up with a solution to the assignment problem?
HICITHA ST NN (PIN A0 FIRNG BT RA?

Question 29

When total supply is equal to total demand in a transportation problem, the problem is
said to be
(I AT TITF TN TN FIIAR TN BIRAR SN =W GYF TGP b I0eT?

Question 30

Relative error = ?

AN IS F72

Question 31

Write the approximate number after rounding off the following number correct up to 5 significant figures 0.00007832.

0.00007832 S IG 5 WAAIF T & WS W S0 Y |

Question 32



Find the sum of four approximate numbers 251.72, 3.2013, 0.0032, 0.327

BIAMG SYNINF AR (TNFATD (N T -

251.72, 3.2013, 0.0032, 0.327

Question 33

Find the exact value of x if the value of
¥ = 0.3681and absolute error of
iIsE,; =023 % 10727

A7 TR TH T T =

0.368149o@mm0 (absolute error)E, =

0231077

Question 34

Find the value of A(tan™1x).

TRGsEEEA(tan™1x) ;

Question 35

Calculate the value of F(1.5) from the
following table :

X i 3 3 4
y=f{x) |1| 2| 5 | 10 | 17

]

AR RIS (1.5) AT TR

x oli] 2] 3 ]2
y=f(x) [1] 2] 5 [ 10|17

Question 36
If Af (x) = e” then calculate the value

oF F{x):

Af(x) = e*7=f (x) gTamniaas |

Question 37

Calculate thevalue of f(0.5)from the
following table

X 0] 1 2 3
f(x) L2 [ 11 | 34

oG ReTEf (0.5) GFT -

1 2 3
2 |14 | 34

-
==

Question 38

Calculate the value of log,g 2.02 from the following table
20 | P A 2.4 2.6 2.8 3.0

X
fx) 0.30103 | 0.34242 | 0.38021 | 0.41497 | 0.44716 | 0.47721
= l0gp X




EEIElog, o 2.0 29T TR

X 2.0 2.2 2.4 2.6 2.8 3.0
flx) 0.30103 | 0.34242 | 0.38021 | 0.41497 | 0.44716 | 0.47721
= l0gp X
Question 39

Calculate the value of Sin 3% from the following table
x° 0 10 20 30 40
Sin x° 0 0.1736 | 0.3420 | 0.5000 | 0.6428
SEERTRAAESin 30 wntTEsa
i 0 10 20 30 40
Sin x° 0 0.1736 | 0.3420 | 0.5000 | 0.6428
Question 40

Calculate the value of fﬂlt[l + x)dx by
Trapezoidal rule, where h = 0.5

R L 1
SieTTeE S e-:g'i.a-:,a%fﬂ (14 x)dx &7
T S = wa, Twh = 0.5.

Question 41

1
Calculate the value of fﬂ |x — 1]dx by
Simpson rule, where n = 10

= = 1
o R 7w [ |x — 1|dx 477

S Ems, Ten = 10.

Question 42

Calculate the root of the equatione® —
3x = 0 by Bisection method.

A FEE AgFe T e’ — 3x = 0

AR BaEE 2 weld Fae]

Question 43

If the initial velocity of a particle is

u (t = 0) with the acceleration f then
calculate the displacement at p™sec.
Time.

[AET TR 4% 0 FF 2R Es s u (t = 0)

AP TF LT T FO0 oY HoFT F1904?

Question 44

What is the value of 1 H.P. by F.P.S. method?
F.P.S. @Ol 1 H.P.ATNNF© ?




Question 45

A substance of unit mass is moving in a stright line a repulsive force is acting on a certain place in the same straight line which is proportaional to the distance

of the substance. Find the path of motion of the substance.
STIACTAT HAN (FF oL [T (FARBT G2 IM 82 IR BN [RAME CF0a [ S IB0F FACF STNFANSF G310 [FHT 3 {Fariet =
ORI 23 IBOF NONY [N Fpw 2

Question 46

Which one of the is right?

dy dx 5 df
A — i
dt “ dt dt
a7 dt dt
! dy dx 5 aé
el e M
gr. = ddf dg’f
¥ X
Dix—+y—=71>—
dt ~ < dt dt
(PG 2
Which one of the is right?
dy dx 5 dé
Ry =
dt ~ dt dt
(S Y TR
Tdt T dt dt
d dx déd
gt - ddf dg’f
W X
D:ix—+y—=r3—
dt ~ < dt dt
Question 47

Are the vectors (1,0,0), (2,0,0),(3,0,0) linearly dependent?
(o8aaf F (1,0,0), (2,0,0), (3,0,0) (AAF NGA?

Question 48

Write True or False: Intersection of two convex set is a convex set.

STo7 1 A I : {6 Tea (76 (T7 AHf6 Bee (576 |

Question 49

Are the vectors (1,0,3),(0,1,4),(2,1,0)
linearly independent?

sea afafs
(1,0,3),(0,1,4),(2,1,0) Eyr= ST TR0

Question 50

How many solution exist of the
following equations:
3.31.':1 -+ 5.1{':2 = 1'6 7 3.31.':1 + 5.11.':2 = 1'6

= —
- == e = T T :
AT IR A Iy ?

Question 51

If (1,1,2),(3,5,2),(a, b, c) are basis in
E5, then find the relation between
a,bandc?



E.77%(1,1,2),(3,5,2), (a, b, c) =57

— —

e ol N R
I [=he ST Fatel @, b 498 ¢ 99 T o

T T |
= fry Sty

Question 52

What is the dual of a dual of an LPP?
(I 4T (AP (1ary [ STI19 (7o TR (70 Ao 6 =037

Question 53

If primal of an LPP has unbounded solution, then what is the solution for dual problem?

T 4T STTOF SN ST A, OT=CA
(7® TN 6 TN 2(]?

Question 54

What is the maximum number of solutions for a transportation problem, for a matrix of order mXn?

A6 mxn WFRF [T TN ARIZN ST Gl FRIF ST S SHG o ] 2

Question 55

What is the condition of saddle point in a pay off matrix in game theory.

WA (FCAT PO To7 T5F WIOH (A, PONoT WA [FVE BT AR *1S F =(F 2

Question 56

Solve the following game :

Bz BZ
A, 6 =3
A = 0
AN B T AR LT Y
Bz BZ
A, 6 —3
Aﬂ _3 0
Question 57

If § is the value of a game and each term of a payoff matrix is added by p, what is the value of the game?
T G T RIFE (AT PR T 6 WIIRIH ATSTF NI S JBT0 NG ST (A9 FAT TF OIRCE (TSN 0T (I S (AT RIS
TR FE TSRS PO W =7 2

Question 58

Which of the following is true for the
hyperplane = {x:pT =} ?
A. Convex set B. Non-convex set

L, oreimeerss H = {x: -pT =]

A. B3 (G B. SIo[ae (Wb

Question 59



When is the following set said to be

convex set?
X =xlxeR, |x| = A}

X = {x|xeR, |x| < A}convex T == ?

Question 60

What is the value of a game whose payoff matrix is a skew-symmetric matrix?

W (A PG T3 5I5F WIHHO 0 [FAS TN WiRH =7 Ozt FIoR TN F6 21 2



